
Abschluss-Quiz (Deutsch)  
 

1. Zu welcher Sprachfamilie gehören Deutsch, Englisch und Italienisch? 

o Indoeuropäische Sprachfamilie 

2. Ist das Sprachwandel? Franz. Grand-mère à Grossmutter 

o Ja 

3. Perd à Pferd: Das ist ein typisches Beispiel für… 

o 2. Lautverschiebung 

4. Brüeder à Bruder: Das ist ein typisches Beispiel für… 

o Diphthongierung und Lautwandel im Vokalismus 

5. Wie ist die Verbstellung im Neuhochdeutschen? 

o Verbzweitstellung 

6. Was ist die Kasusnivellierung? 

o Veränderung der Kasusmarkierung 

7. Crazy (übernommen vom Englischen) ist lexikalischer oder 

semantischer Wandel? 

o lexikalisch 

8. Montag (lat. Tag des Mondes) ist lexikalischer oder semantischer 

Wandel? 

o lexikalisch 

  



Final quiz (english)  
 
Are the following statements true (T) or false (F)? Tick the correct box. If the 
statement is false, correct it accordingly.  
 

Statements T F 

(1) English is a Germanic language, along with others such as Frisian, Dutch, and 
Swedish. 

x  

Correction:  
 

  

(2) The Vikings brought 900 Scandinavian words into English like ‘give’ and ‘take’. x  

Correction:  
 

  

(3) Once, just Ireland was rhotic, but now this phenomenon appears to be 
increasing. 

 x 

Correction: Once the English language was entirely rhotic, but now this 
phenomenon appears to be receding.  
 
 

  

(4) The trap-bath split is a consonant change.   x 

Correction: It is a vowel change.  
 

  

(5) In Modern English grammar, there are no more cases.  x 

Correction: Even though they have nearly disappeared, there are still cases 
(subjective, objective and possessive) 

  

(6) “Men”, “women” and “children” have irregular plural forms because they 
belonged to irregular declension classes in Old English.    

 x 

Correction: They belonged to different, but regular noun groups. 
 

  

(7) Semantic change refers to changes in word meaning. x  

Correction:  
 

  

(8) When a word meaning becomes more general, we talk of “narrowing”.  x 

Correction: when a word meaning becomes more general, we talk of “broadening” 
or “generalisation.” 
 

  

 
  



Soluzioni per la quiz finale (italiano) 
 

1. Di quale famiglia fanno parte le lingue come le lingue germaniche e le lingue 
romanze?  
Lingue indo-europee 
 

2. Quale è il motivo per il cambiamento delle lingue attraverso il tempo?  
Il contatto tra le lingue  
 

3. Quali sono le consonanti che non esistevano in latino ma sono presenti nella lingua 
italiana? 
Le consonanti palatali tra cui ɲ di “gnocchi” e ʎ di “tagliatelle” 
 

4. Quale differenza fondamentale esiste nel caso delle vocali latine?  
La differenza tra vocali lunghe e brevi  
 

5. Cosa succede con le parole che avevano come genere il neutro in latino?  
Diventano dei nomi maschili 
 

6. Perché in italiano non esiste più la libertà dei costituenti della frase?  
A causa della scomparsa del sistema dei casi 
 

7. Come si chiama il fenomeno in cui una parola acquisisce un significato più ampio 
in italiano rispetto a quello latino? 
Generalizzazione 
 

8. Che cosa succede nel caso del peggioramento? 
Una parola acquisisce un senso più negativo in italiano.  

 


